
The Prisoners Dilemma.

A is silent A betrays B

B is silent 6 months jail
for both A and B

A goes free /
B tortured + executed

B betrays A B goes free /
A tortured + executed

A and B are both
executed (not tortured)

Two spies, A and B, are captured.

They are interrogated separately. If either prisoner
betrays the other, the betrayer will be freed
and the other tortured and then executed.

If they both remain silent, they are both imprisoned
for six months.

If they each betray the other, they will be executed (but
not tortured).

Putting yourself in A’s place, what should you do?



World Reduces 
GHG Emissions 

World does not 
Reduce

Canada Reduces
GHG Emissions

we suffer, make 
no difference

we suffer, make no 
difference

Canada Does 
Not Reduce

living high living high (until the 
end)


